EARAZROREIERT — 2 N—XBISY —F 2018558208 (H) 2@EEZE10H

‘ [R1%] & ‘ [REBB] — | & (&) 14000 B

WY Z%3m®% 5007AT [EE] Hik

[A~&£] 17 :7,200,000  ~ 23 :2,900,000 § 337 :1,800,000 43 :1,100,000 3 5 j& :720,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o . 3 | HOHE 1:25.8 7-7 36.5| 95.5 | 2 486 | AFIERK (i)
1 12| TEVTT > 56.0 (=) -6) | W) TURFILS
L:vm7% B:F7xUL-0 BREM Ty RKFv T - T7—L
; 4 3 | BBER 1:25.8 9-9 36.2| 956 | 5 490 | BHMIL (i)
2(1]2|EYNZTT 56.0 (7€) () | BfEZZ
LTITRRATIZIV BiN—WAT) 2T peleie)
: 4 3 | JIEEBES 1:26.4 13-14 | 36.2] 90.1 | 3 440 | THR EF)
3/8l16| NV 56.0 (31/2) ) B) INT7—L
R:BALINT Ry X B:ETINTF4 L #iE  JEAA
= . # 3 | HPBE 1:26.6 11-10 [ 36.8| 88.0 | 12 434 | BIEXHE (EH)
4 3 |‘7Z |*|:|/ 54.0 (a 1/2) (+10) EIRILAT
RNZ—ka21—X B:e1>brTIy s Kk BB
43 | ML 1:26.7 16-16 | 36.3| 87.3 | 6 436 | FOREERE (i)
5 5| 7x)—Fz 54.0 (3/4) ) | B AT 7—L
RELTFAOYY Bia14%%55 HREM EVRI—K—25>F
= X S i 3 | BEAS 1:27.1 8-8 37.7| 83.3 | 13 | 442 |KHBEL (F#)
6 6| 71T>F¥+Z>h 54.0 21/2) 4 | AERE
R: 291 T hF—F7—K—K B:7E-INI-—F HET77— L
b 4 3 | EHEE 1:27.3 11-12 37.4| 81.5 | 4 182 | BEFE (ER)
" : BIEEEL T 5.0 M g |ETE—
¥y /%% B:EYbEHUT Nipse]
4 3 | WEEE 1:27. 5-4 38.180.9 | 9 500 | =&t (EH)
8|13 ZTXAHAT 6.0 (7€) o) | ) K77 —n
L:N— K2 B:214¥I147 BREEHH E7 R )—FK—-2F>F
. R :27. = . . BEEZ (ER)
9lglis| FavITAVTI4T s R52.0 (11 217/25) 2 %.6) 786 1 ‘zg? ERFS
R:YZZXE&—3Z2%— B:FavIArUH— BORYS
W T e # 3 | AEEZ 1:27.6 4-4 38.5| 77.9 | 10 | 494 |FEEE (i)
EEH FAITIYY 6.0 3/4) (o) | HEFER
x> o /3% B AN URTy b HET77— L
i 4 3 | AIBIEA 1:27.8 1-1 39.0| 76.2 | 8 464 | FIEHIE—EB (X#)
"1 | 71714=07 56.0 (3/4) () | BEFEL
LixiwH I/ xwF BAATATTS HRIEAKIS
ST i 3 | Bl 1:27.9 2-2 39.1| 75.4 | 7 480 | EKAE (RR)
12| 5|9 | 7 LN=n=F [B] 56.0 (3/4) +8) ) FeF—L—s
L RYIYRIX B:95999—K (B) tAa-—FRL -3 @ET7
T g # 3 | AEEH 1:28.0 10-10  [38.2| 75.3 | 14 | 440 |BREPA (EH)
EE 4| = 2 A51.0 (1/2) (+6) HEE—
LTIV A XTI R BiL—=>FC4 by AR
= 3 | AEHRIR 1:28.3 5-4 39.2 | 72.1 | 11 496 | BAEK (E#)
14510\ K7ATRT T L .0 (1 3/4) o |dEER
RTANNTTFF— B:vFysaA—F BEZ %Y K
. . AARE IE 7B :28. — . . AL (EH)
Eﬂ7 L I S i 3 HHLER 1(238)8 15-14 | 38.6| 68.5 | 15 (430) fﬁ%iﬂ
L:EATATv— BiT7TRIAHIIT =]
ST S — # 3 | RLRKA 1:29.3 13-12 | 39.4| 64.1 | 16 | 484 |HBREA (Eil)
1617014l 779>V =7 56.0 3) (1) | KEEHE
L:N—KZIS> B bhol—T7o89— 777 BEsS
@ 71 L
) 49.7-37.0
NA> AL | 12.7-11.4-12.0-12.7-12.4-12.2-12.4
® I —F—@EBIERL
1T=7r=
20—7—
Gol=5r= (x1,9,15)11(10,13)12,6,2-4(3,8) (14,16) 7-5
40—+ — (x1,9,15) (10,11,13)12,6,2(4,3) (8,14) (7,16)5
[ N3
BB 12 460M 714K 2-12 560M e E 1-6 1,080 JEHE 2-12-16 3,640/
8 B 12 1909 12-16 520M B = 2-12 1,390/ B 12-2-16 17,570M
2 290H 2-16 970M B H 12-2 2,640
16 190/

ABICOVWTRDTEEERROODE. TR LIV,




